bt

=3 (=6x)-(=y)-(—1)-x 180v*

Simplificar Expresiones (B)

Simplifique cada expresion.

- (=7)-?
° 4v2-5( )V

—10-9vx-x-(—1)-(—1)
6xz
2
x2.5.7. 22
7. X 6
28
- (-8)-22:(-3)
. . 2517
. — . v. _— .
Y 502 )"
162au? )
_ A(—a?) -6
—6au - u ( a) .
9. b*-3b*- (—9b)-(—b)-8
8ay? 9
a.
ay-8 Y 10. x-x% - 3x% - (—x) - x
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Simplificar Expresiones (B) Respuestas

Simplifique cada expresion.

c =3 (=6x)- (—y)-(—1)-x 180v*
B (2 ) ( y) ( ) 6 — 4 .(_7).\22

= 18x%y 442.5

= 63"

hd

. —10-9vx-x-(—1)-(—1)
— —90vx? 7x2-5-7-%
' 6
= 35x°z
28
| Ta-(—S)-Zz-(—3)
=336az sy 2V
STy 512 Y
:25vy2
162au? 2
_ (—a) -6
—6aué9u ( a) ¢
— —18a 9. b*-3b*-(—9b)-(—b)-8
=2165°
; 8ay? 9
ay-8 10. x-x°- 3% - (—x) - x
= 9ay? = —3x'
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